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Match #9

These questions are for use in the Virginia High School League’s Scholastic Bowl Region competitions. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
She was born to the non-noble Tascher family on Martinique; she was married to the Viscount de Beauharnais (boh-HAR-nay) at age sixteen. After he met the guillotine in 1794 she was newly single, meeting several influential French politicians, including the one she married in 1796. However, she proved to be infertile, so she was divorced and replaced by Marie Louise of Austria in 1810. Who was the first wife of Napoleon?

ANSWER: Josephine de Beauharnais

2.
In the (Quizmaster: read slowly) past tense, indicative mood, singular number and third person (Quizmaster: read normally), what is the conjugation of the English verb “be?” 

ANSWER: was
3.
Early on in this poem, the villain loses a game of Ombre (awm-berr). He drinks too much coffee and after getting a pair of scissors from Clarissa, commits a “terrible outrage” on a woman. Despite the scolding of Sir Plume and the help of Umbriel the gnome and the Queen of Spleen, the villainous Baron remains unrepentant. Belinda’s cut-off hair becomes a new star in the Heavens in what mock-epic by Alexander Pope? 

ANSWER: The Rape of the Lock
4.
In the early 1980s, with Grover Norquist and Ralph Reed, he ran the College Republican National Committee. He is now inmate 27593-112 at the Federal Correctional Institution, Cumberland. His clients have included Channel One News, the governments of Sudan and Malaysia, the Northern Marianas Islands and several Native American tribes. What disgraced lobbyist nearly single-handedly gave Congress to the Democrats? 

ANSWER: Jack Abramoff
5.
He coined the term “photon” to replace Einstein’s “light quantum.” What scientist developed the acid-base definitions based on accepting or donating a pair of electrons and also developed electron dot symbols?

ANSWER: Gilbert Newton Lewis
6.
This novel has four viewpoint characters: cavalry commander John Buford, infantry commander Joshua Lawrence Chamberlain and Confederate generals James Longstreet and Robert E. Lee. Its author’s son, Jeffrey, wrote both the sequel, The Last Full Measure, and the prequel, Gods and Generals. What novel by Michael Shaara was turned into the movie Gettysburg? 
ANSWER: The Killer Angels
7.
It is conveniently located next to the medium-security Wyoming Correctional Facility in a small town between Buffalo and Rochester. When it opened in the 1930s, it promised better treatment to inmates than Sing Sing, but by 1971, it had become its equal. What prison in New York State is the home to Mark David Chapman and was the site of 42 deaths during a notorious riot that year? 

ANSWER: Attica Correctional Facility (style points if the answer is repeated as in “Dog Day Afternoon”)

8.
Not a true mineral, this fossilized substance is most often found along the Baltic coast of Europe.  Thought of as a gemstone, but not a true mineral, is what substance, known for its ability to preserve animal and plant matter, but otherwise is not a mineral but simply fossilized tree resin?

ANSWER: amber
9.
This technique can come in several forms, including the sunken, where the sculptor carves the image into the stone, and the bas (BAH), where the image protrudes just a little over the flat background.  What name is given to the type of sculpture where the image remains attached to the background?

ANSWER: relief sculpture

10.
Greg Norman set the record for the lowest 72-hole score at this event, though Tiger Woods set a record with -19 under par at this event in 2006.  While previous events have been held at sites like Royal Troon and Carnoustie, what annual golf championship tournament is administered by the Royal and Ancient Golf Club of St. Andrews and was held at Royal Liverpool in 2006?

ANSWER: The British Open (Also accept The Open Championship or sadly, just The Open)

11.
THIS IS A COMPUTATION QUESTION. What is 21 times 16 times 11?

ANSWER: 3696
12.
Predicted by the Standard Model, it has not yet been observed, but the LHC at CERN should be able to detect it when the LHC opens.  Name this particle that is said to give other particles mass, a as-yet-undiscovered type of boson. 

ANSWER: Higgs boson

13.
Each piece written by a classical composer is given one of these numbers, which usually are ordered by publication date. It is in the name of a conservative Catholic organization that featured prominently in The Da Vinci Code. What word, that means, “work” in Latin, is combined with “magnum” to refer to one’s greatest achievement?

ANSWER: opus (do not accept “work”)

14.
This river’s tributaries include the Great Miami River, the Cumberland, the Tennessee and the Wabash. What river forms in Pittsburgh at the junction of the Allegheny and Monongahela (moh-NAWN-gah-hee-luh) Rivers and empties into the Mississippi River at Cairo (KAY-roh), Illinois? 

ANSWER: Ohio River

15.
This eleven-letter word first appeared in the 2nd century on amulets that were supposed to cure the wearer of fever and inflammation. Its origin might be Aramaic (ai-ruh-MAY-ik) words meaning, “I create as I speak” or, “Disappear like this word.” What is this word today used by stage magicians as a generic magic word? 

ANSWER: Abracadabra (as opposed to Avada Kedavra)

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
Cho Chang and Luna Lovegood are members of what House at Hogwarts?

ANSWER: Ravenclaw House

1B.
What legal term describes any writ of authorization, most often issued by the police to arrest someone or by a magistrate to allow the search of someone’s property?

ANSWER: warrant
2A.
What is the term for a quadrilateral with only one pair of parallel sides?

ANSWER: trapezoid
2B.
Silver iodide and dry ice are often used in what type of practice to generate rain or affect weather patterns?

ANSWER: cloud seeding
3A.
What inventor developed the process of vulcanizing rubber? 

ANSWER: Charles Goodyear
3B.
What singer joined his daughter Nancy on the song “Something Stupid,” but was more famous for songs like “That’s Life”?
ANSWER: Frank Sinatra
4A.
In 1873, who was convicted of charges related to corruption he committed while head of the Tammany Hall political machine? 

ANSWER: William M. “Boss” Tweed
4B.
THIS IS A COMPUTATION QUESTION. What is the sum of the numbers from 1 to 15?

ANSWER: 120
5A.
Hanley Ramirez is the second Florida Marlin in four years to win what award, also given to Dontrelle Willis in 2003?

ANSWER: National League Rookie of the Year
5B.
What word from Swiss German means a sudden and violent attempt to overthrow a ruling group, such as the one Adolf Hitler attempted in 1923?

ANSWER: putsch (pooch)

6A.
What thirty-year veteran of the New York City Public Schools wrote about his life in Angela’s Ashes? 

ANSWER: Frank McCourt
6B. 
During Nero’s reign, a great fire destroyed a temple devoted to which Roman goddess of the moon, the equivalent to the Greek Selene (she-LEE-nuh)?
ANSWER: Luna
7A.
 What name did the Romans give to the island of Ireland?

ANSWER: Hibernia
7B.
THIS IS A COMPUTATION QUESTION.  If pi were equal to 3, what would be the difference in area between a square of side length 12 and a circle of radius 6?

ANSWER: 36
8A.
In October and November 2006, Russia had an escalating crisis with what neighboring country which had undergone the “Rose Revolution” in 2003?

ANSWER: Georgia
8B.
What is the main artery in the neck called?

ANSWER: carotid
9A.
THIS IS A COMPUTATION QUESTION. Round the values of pi and e to the nearest hundredth. What is the value of pi minus e?

ANSWER: 0.42 (3.14 – 2.72)

9B.
What Haitian dictator ruled between 1957 and 1971, and had the nickname “Papa Doc”? 

ANSWER: Francois (frawn-SWAH) “Papa Doc” Duvalier (doo-vah-LEE-ay)
10A.
What chemical with formula C20H14O4 was once used as a laxative but is used as an pH indicator, since it turns from colorless to pink when the pH is above 10?

ANSWER: phenolphthalein (fee-nulf-THAY-leen) (note: the second “ph” is often dropped)
10B.
What is the hallucinatory drug taken daily by citizens of the World State in Aldous Huxley’s Brave New World? 

ANSWER: Soma
Third period, 15 toss-ups, 10 points each

1.
They are the first elements to have electrons fill the 4f electron shell, which is completely filled by the time we reach Ytterbium. Name this group of elements, part of the rare earths, whose atomic numbers range from 57 through 71.

ANSWER: lanthanides or lanthanoids

2.
When this game first came out, the main character was called Jumpman, and his goal was to rescue the Lady, whose name was changed to Pauline.  What video game, released in 1981 by Nintendo, had four screens depicting a construction site, where Mario had to avoid barrels thrown by the simian title character?

ANSWER: Donkey Kong
3.
Depending on whom you believe, she died either in December 1812 or in April 1884 at nearly 100. She is known to have married the trapper Toussaint Charbonneau (SHAR-boh-noh) and bore him a son, Jean-Baptiste (ZHON-bap-teest), the only child ever to appear on American currency. What woman’s knowledge of the upper Missouri valley and the Shoshone language helped the Lewis and Clark expedition, and got her a spot on the golden dollar coin? 

ANSWER: Sacajawea or Sacagawea or Sakakawea (there’s several different spellings of her name, be lenient in accepting answers if you can research them) 

4.
This play’s title character refuses to walk on the purple carpet, but his angry wife kills him with three strokes of an axe. His new concubine can see the future, but decides not to avoid her fate and is also killed. Aegisthus (uh-GHEES-thus) marries the newly-single Clytemnestra (cligh-tem-NES-truh). Cassandra is killed after the title character in what Aeschylus play (ESS-kuh-lus), the first of the Orestia (oh-res-TEE-uh)? 

ANSWER: Agamemnon
5.
What kind of number such as fourth or sixth indicates rank and are opposite from “cardinal” numbers?

ANSWER: ordinal numbers

6.
In the middle of this novel, the protagonist returns home to Boston and meets Dodo Conway. Other characters include the wealthy Philomena Guinea and the protagonist’s two friends in New York, the pious Betsy and the party girl Doreen. The therapist Dr. Nolan also gives electroshock treatment to the protagonist, Esther Greenwood, in what only novel by Sylvia Plath? 

ANSWER: The Bell-Jar
7.
The zero-coupon variety of this investment pays off the face value when it matures, but most of them pay a fixed amount of interest twice a year. They go up and down in resale value depending on the prevailing interest rate. Corporate, municipal and U.S. Savings are the most common types of what debt instrument? 

ANSWER: bonds

8.
His philosophy can be summed up in the quotes: “There is no right to strike against the public safety by anybody, anywhere, anytime” and “The business of America is business.” What man said these two quotes, the first while Governor of Massachusetts during a threatened police strike and the second while President for most of the Roaring Twenties? 

ANSWER: (John) Calvin Coolidge
9.
The author of a book called The Passover Plot theorizes that his famous victim was a willing accomplice. However, in chapter 26 of Matthew, Jesus said of him: “It would be better for him if he had not been born.” What disciple of Christ, for 30 pieces of silver and with a kiss, betrayed Him? 

ANSWER: Judas Iscariot 
10.
The cubital fossa is located at this body part whose name is preceded by Little League and tennis in injuries.  Name this arm joint where the radius, ulna, and humerus meet.

ANSWER: elbow
11.
At the Battle of Angamos, the ironclad Huascar (oo-AH-skar) was sunk, marking the end of this war’s naval phase. The war was started with a dispute over rich nitrate deposits in the Atacama desert. When Argentina chose not to enter the war, the modernized Chilean forces were able to win. Peru’s southern Tarapaca province and Bolivia’s oceanside property were the spoils of victory in what war fought between 1879 and 1884? 

ANSWER: War of the Pacific
12.
Because of a low average search time, but a very high worst case search time, this computer science tool is best used with a high number of entries with an array best served for small pieces of data. A collision occurs when two elements in it have the same key. What data structure is similar to an array, except that the keys are values instead of numbers?

ANSWER: Hash Table or Hash Map (accept associative array. Also accept an answer that contains “hash” and can be proven as such by the coach or player.)
13.
What is the English translation of the French phrase, je ne sais pas (zheh neh say pah)?

ANSWER: I don’t know or I do not know
14.
All told, this country won 14 medals at the 2006 Winter Olympics, including their first gold medals since the 1994 Lillehammer games.  The country won a team silver medal in women's ice hockey and team gold in both men's ice hockey and women's curling.  The first team to defeat either the US or Canada in women's ice hockey besides each other is what country in Scandinavia?

ANSWER: Sweden
15.
The caretakers of the Tower of London ensure they remain there by clipping some of their feathers on one wing; thus they are supposedly keeping England safe from invasion. Common, Chihuahuan (chee-WAH-wan), Brown-necked, White-necked, Australian, Forest, Little, and Thick-billed are types of what large bird of the genus Corvus after which is named a poem by Edgar Allan Poe? 

ANSWER: raven
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
At this novel’s end, a player for Epiphany Middle School protests that “tip” means “to insure promptness.” The protestor, Julian, is joined by Nadia, Ethan and Noah in a group called “The Souls,” and they are coached by Eva Olinski. In what Newbery-winning novel by E.L. Konigsburg is Julian’s protest incorrectly upheld, winning Epiphany the Academic Bowl Championship? 

ANSWER: The View from Saturday (Epiphany’s protest should NOT have been upheld as “to insure promptness” is NOT the meaning of “tip.”) 

2.
This city was originally called Anfa, and was ruled by the Portuguese, who gave it its non-Arabic name, and the French until 1956. It is home to the Hassan II Mosque, which has the world’s tallest minaret. What city is the largest in Morocco and lent its name to the title of a 1942 film starring Ingrid Bergman and Humphrey Bogart? 

ANSWER: Casablanca, Morocco

3.
THIS IS A COMPUTATION QUESTION. Solve for x.  7x minus 20 equals negative 3x minus 100.

ANSWER: x equals negative eight
4.
The main adversary in this opera is the Khan Konchak, but by the end of the plot his daughter is married to Vladimir, son of the title character.  First performed in 1890, Act II contains the Polovetsian Dances, perhaps its composer’s most famous work.  Identify this four-act opera about a 12th century Russian nobleman by Alexander Borodin.

ANSWER: Prince Igor
5.
Its progress is measured by the Hoehn and Yahr scale. Postural instability, bradykinesia (bray-dee-kih-NEE-see-uh), rigidity, and tremor are its main symptoms. In an 1817 paper by the man it is today named for, it was named “shaking palsy.” Also known as paralysis agitans, name this disease, caused by a lack of dopamine, that includes Muhammad Ali and Michael J. Fox among its sufferers.

ANSWER: Parkinson’s disease

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

